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Quiz #4, Math 102, Summer 2007

1. A company that has 500 computers has been infected by a computer virus.  The virus is infecting the computers at a rate of 8 per minute.

a. Write an algebraic expression for the number of computers that have NOT been infected, letting x be the number of minutes elapsed since the first computer was infected.

b. Determine when 180 computer will not be infected.

c. How long will it take for all the computers to be infected?

Include your table of data that helped you determine these values.  Include at least the number before and the number after each of your answers.

2. Solve the equation 2x + 3y = 17 for y.

3. A serving of raisins contains 130 calories and 31 grams of carbohydrate.  If raisins are a fat-free food, find how much protein is provided by this serving of raisins.  [Use the formula C = 4h +9f +4p, where C is calories, h is carbohydrates, f is fat and p is protein.]
